Seat No. :

AY-101

May-2016
M.Com., Sem.-I1

411-EB : Cost Accounting-I
(New Course)

Time : 3 Hours] [Max. Marks : 70

dadl: (1) #3301 dldlall dHIRL Faletl ¢zy sauldl.
(2)  wugll euygdl saldd sl us-L Rl sald ©.

1. aiwa 54l el AU usddl [@aweidi Al AdeiRiAl 20l (..
%33 ) @vil. Su-dl ugd-l [SA1edl A eusla (Sl ad-uel el A ¥ 13

(1) 2el0Higl T 5,000 HIA-AHIA AWAUA URd SAUHL ALl
(2) Gt viddl T 3,000 UAE HIA-ALHLA, 2244l ud sl
(3) M5l oS HI2 T 2,00,000+1L ALHLA AL
(4) SRV MU W2 T 2,000 ALHLA UL,

(5) 22l 2oL el T 10,0004 AL oioll dLdl. 0L 5L 60%-tL Ml
dldd 9.

(6)  Hia-AL-l 2RLd?l sl quid T 4,000 ALl g2 gy udl.

(7)  Gauled ol Auel T 7,000 Ysl.

(8)  dawl [eua vid adladl Rl vwaldl siasll T 30,000

9)  adladl [RRul waldl aydid T 32,000

(10) 8,000, Alg 11 WHYR sUHL 20, (-l 515 elour Bud 2l

(11) wflysd Gauted Hlldq 51281 T 9,000 Gallet RRIMFL waldl 2] ayeld.
(12) y21 [ 2da s14 201, Gauled [RRIuzl wal % 10,000.

(13) ucda stveRi-l [Hrsly ana-l 1yl 7 8,000.

(14) sl Wil 53 2 s1HelR A ML Alg-UHL st T 30,000.

N\

(15) T 3,000l usd2 [Fxd-l i, s Aesd T 4,00041 4240 &dl. ¢d del d e
Ud, sl €9,

(16) Gculerd L2 UUA AlMLL GUR UAsHLA 2L T 5,000.

AY-101 1 P.T.O.



(17) Alg A1 oiasti vl a32id-dl ousl T 8,00,000 &dl. a1y [saell ad
g1 d Ul elisii Y3 As add €.

(18) dulR A+ Gl 418l 7 15,00,000.

(19) ealelRl WAl Guielldl A5l HouL T 4,00,000.

(20) dulR HlA Usdr (BHd A28t T 2,00,000.

(21) 10,00,0000 [ZHdAl Geulled duR Hd, dUSLGAHL 4 2L

(22) %31 Y5l T 40,000 FHi uRaL s1HeRIA Ysdd UYL T 5,000 AL ALY
9.

(23) Gcaule vitddl T 3,000 ULE HId RIIHL Ud HLISAL.

(24) AMRSIH i [(Fetd vl HIe 2UUe UR1E HId A=A 45l T 4,000.
(25) Rl Gaule M2 2uUd Udd 1 T 12,000.

(26) ML Gaule Hi2 2uud uRlE He T 6,000.

PRl
del su-ll [aBies dslaa [Sauell uglaadl 2ust vl 9. dl. 1-4-201541 A% Susdl-
AU 519 49Y, 1A Yot 84, : 13
ERI G sufl (F) | wH sudl )
-4 vLdladl (AL vig 80,000
ALY, S g, 75,000
dulR Hie [HameL vig, 50,000
CEREIN] 45,000
ARlEIR1, vilg, 36,000
Rz Biesdld vilg 3,00,000
gaAlElRU, vild, 60,000
ST R{EIT) 4,00,000
gA1R1AL oS vig 22,000
gl M-l Aotad vilg 4,000
6Lsl Geulert (R wald vid 12,000
201G Ysde adladl Rl wald vud 15,000
1AL AoLSd, v, 10,000
ASL-45AL1 vlig 51,000
5,80,000 5,80,000

AY-101 2



dl. 31-3-2016+1L A% YL Adl A e341ArAL AaeIRl 1A Yool ¢l :

4
A 1Rl Asdl (Uda T 4,00,000 v U8 T 25,000) 4,25,000
Hladl Gar wlel 4,40,000
Bauled Ml UA Hld 5,00,000
AUIRSIH U el HIe e HIA-A1HL 9,000
Ayl g%yl dUlR $2e Al ugd 9,70,000
A AL (RUSS ARl GUIR dARIAL 1/3 ¢lLdLd, ) 15,00,000
SDICRCTICE I IRYE) 10,00,000
Gewlert [RIu] vl ayald 1,80,000
Al g3l Ysda Gauled (AR wal 1,10,000
AL vid Ysqaldl etsl Gauted BRI val 15,000
Ayl g4 Ysdel adladl BRIl val 50,000
Al g3l Ysdal Rl [fdzel @Rl wal 60,000
ARlEIRA Y5l 4,60,000
gatlelRl Wil Gulelll woyy 11,00,000
Aol gARL 20,000
iEA sl =Rl 5,000
el id »sadidl esl adladl Rl val 3,000
el 2id qaviy seumd-dl oo 7,000
Al g4It Ysde laAsARL 8,000
AL vid A1l oL 15,000

dMIM 2SS ARl 65 glRL % AL 2d 9. Susdll AU, Asld uidR
vildldlHl %37 vl ddiR s i adlAL 2id 519 44y, et-ldl.

AY-101 3 P.T.O.



2. (A) As Sudl d-l a5 ges We 2Rl arel ozl (E0Q) Ul 2u-ud ¢9,

(B)

AY-101

% Il [Qatdl 12 3ot o
wsHels vile [(Bud % 500
£25 8 Ysaldl v % 200

sudle Alls A asd saAl v, ddl wle Bud-dl 20% 9. Hld-ALHLA
AAS v i 2R ysadl g4 wlls w2 T 6,000 €.

A 5udl 25 A 300 AASHIAL 2R U dl, sl BHUdAl 2% wedl deld
Yolellrl Ul UL €9, dHIR :

G)  2ulls arel gl awidl sadl .
(i) aeladl Mcla elsRal oA & e 2 qee Ul

(i) Su-dld 330 2sHAL 25 % 28R U2 % 10% d2ld 2UUALAL MRl 1ol
dl dqF] AALSHL 3R usal 2

24

ws isHAl BHd T 50 . d-ll wlls oL 600 sl ©. €25 2 ysal-l
w2l T 50 ¢9. visHels Allls ded Wi T 6 9. -l aeuel Yol d2ld Udld
Su-dld wole 9

L8 w2l — VisHl qala
0-99 0%
100 — 199 5%
200 — 299 10 %
300 — 15 %

dAdIR Svedd U8 el i d-dl ga usdl arldl saul €.

w5 Sudl 25 [Afve usRAL doid Gauled 53 ©9. UAH Aol Gulet HIe 3,000
woR salsi-l %32 ©, AU A5 80% . sAl5Tls UAE HYRIAL €2 T3 6. 4n
£ls T 8,000 Ucgl HlA-11ML A9l Rar R wal 7 50,000 €.

dHIR 2RIdI] Sl €9 :

() AR 2 26 Aol AN W3R

(i) 216 Aol Geuler sul ugdl, oflog qaIRlAL 6 4ol oirtaal Hiestl L8 1ol
dl, AL BHd GUR 40% sl Hoadl M1, dA€ls dawl Bud sedl wmdl
ASuL ?

YA
YsdR UG Vi UdR "2l ANl 2 d5ldd welldl.

4



3. garll sudl [aBies, A, B v C 24 o8l usiRl axgatld Gauled 5304 4 9. 10
syl AL UHIRL Gl SAUML U 9 2 5 dASHIAL UseHl dAUMl 2ud 9.

2L gl 2l Mifsdl 1A Horol €9 14

ERN A B C

Beulerl 154l 200 300 400

wisHELS U HIA-{HLAAL YR 7 40 50 60

wisHels UAs HYT e T 20 20 30

isuels w33\ Ao sesl 5 4 3

Gewlert R vl 21 wledl 2 yae o

RiRiu) wal U3d A1 4

SIRILALML Aot [aetionL vl 4ol sellsl 34,000

HIA-AMHLAAL UddR Howelusisi-l ival 11,250

4o osarll-l usdr Geuler olai-dl vl 9,000

daial g @dldl usd Geulet G-l Aval 4,500

HIG-AHLA A0 2 aU0( UEIRECICIRSEIIE 9,250

91l usdz L8 Avul

§4 68,000

22l g2 Ustal Hiedl Howllusts-l vl 25 edl. el L 54 180 LR YL

SRAML UL &dl, ¥ 835 5 sHIAL Sl

dMR deldl saudl © ¢

() % BRI vl ayald 4o sals e AR adl eld, dl eys -l sa

Usdz.
(i) 2 RRWF Al ayaid vald ualRd uid2 (ABC) Ugld Horel i, dl e
ag-l 4 usdR.
mal

(A uRnfasld uddR’ Ugld 24 Ul 2u8Rd usd2” ugld-l dsiad weudl. 7

(B) s Alasi-l e Gelerell Alsd axel. 7
AY-101 5 P.T.O.



4. s 5u-dld 5,000 25Ul YR WALl R HOUL 9. Bl LR M2 T 50 A, RaR

Y4l As18L A AL Bod-l 25% wedl sidalle Y-l ¥33lad 224l 14

£25 wsHels 10 (3.2l A 2 10 ¥R salsil #330U1d 289 HA-A1H1A-AL el
[Betlels T 20 21 1Rl 82 5A152ls T 10 9. RIRIAL vl [@atdl 12 e o

Raz (R3] vl
Geulet vl T 4,00,000 i d218L [Adzel w2l % 2,50,000.
lad BRI wal
Beulert vAl MR sALsels T 15 v Al [adrel W »isHels T 40.
AlAAL g5 AL AHIR wisMels el BHd-dl awdd] saudl o ¢
() % st QAL [BHd-AL 25% S,
(i) sl g Yl GUR AndL AUEA €2 15% SlA.

(i) 2018l [BHdl 20% w2dl d2ld 2UMAML 20d AR, Yo ARl Bud-l 15% w2dl
sl Hoadl.

(iv) Heaglg-l 254 GUR 30% sl Asldld 1Ll Sl
(v)  WUIR A5l dRIdR 50% Sid.

(vi) 5l 2 3UIdR WsdRl 100% SlA.

(vii) R 25Hels sl T 40 S,

2yl
(A) s elal 20 A Aledl 1 ¢ 7
UHE HIA-4LHL 54 W3R+l 50%
s 13l $4 W3R+ 20%
ERICEIRED) 4 Ugd-l 30%
AL Bud % 3,00,000

W, el 2d © 5 2ol avul ME-AMI A HRRIAL eHL vsd
20% Al 15% ARl 249 2 dell ol dael Buddl sl 32812 A sl 2ud
dl, dd¥id -5l 10% @l seql.

Y3dR 3Hd GUR eldsl Asll £ 2ol qvidl Hi2 2iddl 9 dawl Bud sedl
vl Al 2

(B) s Sudl-l ausidiedl, 215 delnl 2100 widrdl Al wledl 1a 9. 2Asuels
UIEL HLEA-ALMIL, Udel 1YL 2 Aldd BRI w2l 21458 320, 10 213 5
9. Rar RRWA wal T 3,60,000 . alls d2el 24,000 »isHld ©. Raz
[Hesdimi sl 44 T 8,00,000 9. A1g, Basdidi A5l Y41, dael Bud-
60% 9. As1AAL Y4l UR 20% ANdR-L £ qaadl Hle, wUsuels dAwel Bud
sedl ¢ldl Al ? 7

AY-101 6



5. A [seudl uaiedll 51 i o330 owiddlall saldl 15

@

(i)

(iii)

(iv)

AY-101

EH] Aawnsla e usd - (S
UL UL
4 4
A3 d-l 2l 40,000 47,000
9qe-l 2els 45,000 50,000
Alvoll A5l 2,00,000 ?

usdRAL [Balell Hooidl sl
(a) % 1,98,000 (c) 2,12,000
(b) %2,02,000 (d) % 1,88,000

w5 Sudldl sl Al WS auRLa 4500 A5l 9. 835 R Ysaldl vl
9000 9. »isiels dlls ded val 7300 9. sudlal 2ulls arel el lla
wysiel 9. Su-dldl adui 2082 ysal s vl

(@ ¥1,08,000 (c) 2,770,000
(b) %9,000 (d) Guumidl isue s

Adl [ues ugldd 2w 2 9el ddd siMeRi-l Avaid 28R LMl
wide YR FRoetedl e s 10% A 5% 9. d AMA eul viell uidl
Y2l U Adl [RHIAAL SIHEIRL 30 Sdl. d AHA 3L SRVl 9Ll 2dal
siHelRI-L vl :

(a) 3 (c) 15

(b) 30 (d) Gu-Hidl 2isuel Al
1000 254l Geuler 112, UsdR il wilfedl A oo o
wisuels, iUl Wl o33lad 10 o @ 20 (3o els
wsHEls, HYR salsIHl ¥330Ald 20 sALsl @ T 10 sa15els
wisuels Al salsi-l ¥33luld 15 sdlsl @ T 5 salsels

s Raz sirvidl BRIVAL wal, adladl val a4 dae-lader vl 21
% 75,000, T 30,000 21 T 20,000 9. $d 3Uidld U3 :

(a) ¥6,00,000 (¢) ¥5,50,000
(b) 4,75,000 (d) % 3,50,000
7 P.T.O.



(v) 65 Sl AusiHiadl 2 yaretll afsdl |l 9

ugil Gewgr-t vsul wile sl g4

AvY
X 5000 100
Y 15000 200

o2l 2R Udf UsdR T 80,000 2t vlel 20HlRd UddR 90,000 9. U9l
alRd Ugld Yool ol Uslall vie 2UsHLls UddR

(@ XT8A1YZT10 (c) XT8521YZT8S5
(b) XT10w1YZ8 (d) Gu-uaidl sue s

AY-101 8



Seat No. :

AY-101

May-2016
M.Com., Sem.-I1

411-EB : Cost Accounting-I
(New Course)

Time : 3 Hours] [Max. Marks : 70

Instructions : (1) Show necessary calculations as a part of your answer.

(2)  Figures on the right hand side indicates the marks of the question.

1. Pass necessary Journal Entries (narration is not required) in cost account books of a
Gopal Co. Ltd. for the following transactions. Company maintains cost accounts and
financial accounts independently : 13

(1) Materials returned to supplier from stores I 5,000.

(2) Direct materials returned to stores from production I 3,000.

(3) Stores issued for building construction % 2,00,000.

(4) Stores issued for works maintenance I 2,000.

(5) Stores of ¥ 10,000 is lost due to fire in stores. 60% of the stores loss is insured.
(6) Deficiencies of T 4,000 is found in stock taking.

(7) Paid % 7,000 royalty on production.

(8) Administration overheads allocated to sales department ¥ 30,000

(9) Administration overheads recovered I 32,000

(10) Work in progress of ¥ 8,000 is rejected (with no scrap value)

(11) Production overheads of ¥ 9,000 is under absorbed due to defective planning to
production.

(12) Production overheads on unfinished work is ¥ 10,000.
(13) Recorded wages for unproductive time of direct workers, I 8,000.
(14) Employer’s contribution to P.F. and E.S.I. is ¥ 30,000.

(15) Goods costing T 3,000 were sold to a customer for ¥ 4,000. Now he returns these
goods.

(16) Carriage inward on stores issued for production X 5,000.
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(17) The opening balance of building under construction was % 8,00,000. This building
was completed during the current accounting period.

(18) Finished goods of ¥ 15,00,000 sold on credit.

(19) Cash collection from debtors ¥ 4,00,000.

(20) Finished goods sold at cost, I 2,00,000.

(21) Finished goods produced and transferred to warehouse I 10,00,000.

(22) Wages paid % 40,000. This includes X 5,000 paid to indirect workers.

(23) Indirect materials of ¥ 3,000 return to stores from production.

(24) Normal loss of indirect materials issued for repairs and maintenance < 4,000.
(25) Direct materials issued for production from stores I 12,000.

(26) Indirect materials issued for production from stores I 6,000.

OR
Vrunda Co. Ltd. keeps books on integrated accounting system. The following is the
trial balance, appear in the books as on 1-4-2015 : 13
Particulars Debit Credit
3 3

Stores Ledger Control A/c. 80,000
Work-in-progress Control A/c. 75,000
Finished Goods Control A/c. 50,000
Bank A/c. 45,000
Creditors Alc. 36,000
Fixed Assets A/c. 3,00,000
Debtors Alc. 60,000
Share Capital A/c. 4,00,000
Provision for Depreciation A/c. 22,000
Provision for Doubtful Debts A/c. 4,000
Outstanding Factory Overheads A/c. 12,000
Prepaid Administration Overheads A/c. 15,000
Income Tax Provision A/c. 10,000
P &L Alc. 51,000

5,80,000 5,80,000
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Transactions during the year ended on 31-3-16 are as under :

4
Total Wages paid (Direct X 4,00,000 & indirect I 25,000) 4,25,000
Purchase of materials on credit 4,40,000
Materials issued to production 5,00,000
Materials issued for repairs & maintenance 9,000
Goods finished during the year at cost 9,70,000
Total sales (cash sales is 173" of credit sales) 15,00,000
Cost of goods sold 10,00,000
Production overheads absorbed 1,80,000
Production overheads paid during the year 1,10,000
Production overheads outstanding at the end of the year 15,000
Administration overheads paid during the year 50,000
Selling and distribution overheads paid during the year 60,000
Payment to creditors 4,60,000
Collection from debtors 11,00,000
Depreciation of machinery 20,000
Depreciation of office furniture 5,000
Administration overheads outstanding at the end of the year 3,000
Provision of doubtful debts at the end of the year 7,000
Income tax paid during the year 8,000
Provision of income-tax at the end of the year 15,000

All cash transactions are done through bank only. Prepare necessary accounts in the
integrated ledger of company and prepare trial balance at the end of the year.
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2. (A) ACo.Ltd. follows EOQ policy for one of its components, the details of which are

(B)

AY-101

as under :
Purchase price per unit %500
Cost of an order 3200

Annual carrying cost of one unit in inventory is 20% of its purchase price. Total
cost of inventory and ordering per annum is < 6,000.

The company has been offered a discount of 2% on the price of a component,
provided that lot size is 300 components at a time. You are required to :

(i) Compute EOQ
(i) Discount offer should be accepted or not ? Advise.

(i11)) Would your advise differ, if company is offered 10% discount on a single
order of it requirement ?

OR

The cost of a unit is ¥ 50. Its annual demand is 600 units. Ordering cost is ¥ 50
per order. Annual inventory carrying cost is I 6 per unit. The following discount
schedule is offered :

Order size — units Discount
0-99 0 %
100 — 199 5%
200 - 299 10 %
300 — - 15 %

You are required to find out optimal order quantity and its total cost.

A company is manufacturing a specialised machine. Direct labour require to make
the first machine is 3000 hours, learning curve is 80%. Direct labour cost is I 3

per hour. Direct materials required for a machine is X 8,000. Fixed overheads are
of ¥ 50,000.

You are required to calculate :

(1)  Average cost of 4 and 8 machines.

(1))  After manufacturing 8 machines, if the repeat order of another 6 machines
is received, what price should be fixed per machine, so as to receive 40%
profit on selling price ?

OR
Explain and distinguish ‘cost control’ and ‘cost reduction’.
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3. Tulsi Company Ltd. produces and sells three products viz. A, B and C. Production is
done batchwise, each of 10 units and is sold in a packet of 5 units. The details of these

products are as under : 14
Particulars A B C
Production units 200 300 400
Cost of direct raw materials per unit, ¥ 40 50 60
Direct Labour Cost per unit I 20 20 30
Machine hours required per unit 5 4 3

Other details of production overheads are as under :

Overheads Cost drivers 3

Factory works expenses Machine hours 34,000

Stores receiving cost Requisitions raised 11,250

Machine set-up cost Number of 9,000
production batches

Cost relating to quality control Number of 4,500
production batches

Cost relating to material handling | Numbers of sales 9,250

& dispatch orders executed

Total 68,000

Number of requisitions raised on stores was 25 for each product.
Total number of sales orders executed was 180, each was in a batch of 5 units.
You are required to calculate :

(1) Total cost of each product assuming the absorption of overheads on machine hour
basis.

(i) Total cost of each product assuming the absorption of overheads by using
Activity Base Costing.

OR
(A) Distinguish between ‘Conventional Costing” method and ‘Activity Based
Costing’ method. 7
(B) Explain the concept of cost drivers with illustrations 7
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4. A company has received an order for supply of 5,000 units of a product. For this order
a fixed investments of ¥ 50 lakhs and working capital equal to 25% of sale value will
be required. 14

Each unit will require 10 kg. of raw materials and 10 labour hours. Price of raw
materials is ¥ 20 per kg and labour rate is ¥ 10 per hour. The details of overheads are as
under :

Fixed overheads :
Production overheads X 4,00,000 and Selling & Distribution overheads ¥ 2,50,000.
Variable Overheads :

Production overheads @ X 15 per labour hour and selling and distribution
overhead 40 per unit.

You are required to calculate the price of a product under each of the following
situations :

(1)  When profit is 25% on selling price.
(i) An expected return is of 15% on total capital employed.

(i) To earn profit at 15% on original sale price, when discount is 20% on selling
price.

(iv) To sale at 30% profit on value added amount.
(v)  When profit volume ratio is 50%.
(vi) When profit is 100% of conversion cost.

(vii) To earn profit of ¥ 40 per unit.

OR
(A) The following information is available of a product : 7
Direct materials 50% of total cost
Direct labour 20% of total cost
Overheads 30% of total cost
Sale price < 3,00,000

It is estimated that, in the next following year, rate of raw materials and labour
will increase by 20% and 15% respectively and therefore present profit will
decrease by 10%, if the selling price remains unchanged.

What should be the selling price for the next year, if percentage of profit on cost
at present is to be maintained ?
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5.

(B) Following cost data of a product is available from the books of a company :

Direct material, Direct wages and variable overhead per unit are respectively
% 20, ¥ 10 and T 5. Fixed overheads are ¥ 3,60,000. Annual sales is of 24,000
units. Capital employed in fixed assets is T 8,00,000. Capital employed in current
asset is 60% of sales price. In order to earn 20% return on capital employed, what
should be the selling price per unit ?

Select correct answer and show necessary calculations :
(1) Particulars Books of Financial Books of Cost
Accounts Accounts
4 4
Opening stock 40,000 47,000
Closing stock 45,000 50,000
Net Profit 2,00,000 ?

Profit as per cost accounts is
(a) < 1,98,000 () %2,12,000
(b)y <2,02,000 (d) < 1,88,000

(i) In a company, consumption of raw material is 4500 units per month. Ordering
cost is ¥ 9000 per order. Carrying cost per unit per annum is I 300. Company

follows EOQ policy. Total ordering cost of a company, per annum is
(a) < 1,08,000 (c) ¥2,70,000
(b) 9,000 (d) None of the above

(i) Labour turnover as per Replacement Method and as per separation method is 10%
and 5% respectively. Number of workers replaced during that period is 30.
Number of workers left during that period is

(@ 3 (c) 15

(b) 30 (d) None of the above

15
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(iv) For the production of 1000 units, available cost data is as under :

v)

AY-101

Per unit raw materials required is 10 kg @ X 20 per kg.
Per unit labour hours required is 20 hours @ ¥ 10 per hour.
Per unit machine hours required is 15 hours @ % 5 per hour.

Total fix factory overheads, administration overheads and selling distribution
overheads respectively are T 75,000, I 30,000 and ¥ 20,000. Total conversion cost
1S

(a) 6,00,000 (¢) ¥5,50,000
(b)y 4,775,000 (d) ¥ 3,50,000

Following data is available from the books of a company :

Product | Units of production | Total number of
purchase order

X 5000 100

Y 15000 200

Volume related activity cost is ¥ 80,000 and purchase related cost is ¥ 90,000.
Cost per unit of both products as per ABC method is

(a) XI8&YXIO (c) XRB85&YX8S

(b) XT10&YXS (d) None of the above
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s1RuiAL BRI wal 1,50,000 60%
adladl (Rl wal 1,00,000 40%

AU A28l BHdAL 10% sMHA ddl 85812 .

dMIR 2RLARL sl €9

() QAL [(Brd BUR 20% sl Haadl 8id, dl 2sHEls dawl Bud.

(i) o sHels ARl (BHd T 40 8y, dl Adge [Blg isHl A4 3l g el ?

24
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s Su-dldl Gaue Al 4,00,000 2AsHIAL €9 A d AHIAL Fld 80% Alkdxl s1d 52
9. a5 uns A Yool

[@21a 4 z

GAUle Vi dALRL 3,20,000 A4, AL 19,20,000

Byd 215488 @ T 60

olg ;. Aldd wal:

HIA-ALHLA 3,60,000

Hog) 3,60,000

s1RvilAL [2R1UR] wal 3,20,000

adladl Rl val 80,000

A8l [adzel BRIl val 1,60,000 12,80,000
51010 6,40,000

ol ;R wal:

s1RvilAL [21R1UR] wal 80,000

adladl BRIl val 40,000

A 1e1-[gdzel BRI vl 40,000 1,60,000
N 4,80,000

VL AUY BRI VRUR GAdlerl 3,00,000 sHld, ed. vRviR sudls dawl Bud
50 edl. A3vtd-Al 2 992l 22ls iqsH 20,000 2UsHL 7 40,000 HsHL Sl

AHid vsdr Ygla 2 AMddl wsdr vgld wHel, uas otldld Asidl 2wl su.
o Azl Hoagll salad wats dur s

AY-101 19 P.T.O.



3. (A) s 5udl 25 [Qare usRAL Aot Gauled 52 9. UAH Aol GAulet Hie 3000
woR salsil %32 9, wAUL A5 80% 9. SALSElS UAE HRIAL €2 T 3 ©.

AL T 8,000 Mg Hld-uMiA . R [RRI vl 50,000 9. 7
dHIR 2RIAIL sl €9
() AR 2 A6 Aol AN UIdR

(i) 216 Aol Geuler sl ugdl, oflon ARl 6 4ol oirtaal Hiesdl 8 1ol

dl, A8l Bud GUR 40% sl Hudal |12 d29ls dawl Bud sedl uwdl

A5 ?
(B) “UddR GA” 2 “UgdR Haldl” AMAAl 2t dsldd weldl. 7
YA

(A) HYA a5 2ed g ? AU asg uMel (2stl) sdl Jld sl sl 2d

9 2 Gelsel Al d AMAAL. 7

(B) - asl Aarasly [Baell ugla Al yaioiddl axadl. 7

4. 68 5u-dld 5000 isHL YU wsAldl 2R HEL 9. L AR M2 T 50 dvtd Ra

Y4l RA518L A AL BHdel 25% wedl sidalla Y-l %330d1d 2e4l. 14

£25 wsHels 10 (3.l A 2 10 ¥R salsil #33041d 289 HA-A1H1AL *lg
[Betlels T 20 2 1Rl 82 5a152ls T 10 9. RIRIAL vl [Gatdl 12 yae o
Rer RR1u wal:

Geule vl T 4,00,000 i 4Rl [@dzel wal % 2,50,000.

AY-101 20



AlAd BRI vl :
Beulert viAl HYR sAlsels T 15 2 dulel [aazel vl vis41els 40 ©.

AAAL e85 AARUHL AR 2U5HElSs dARBHAA dweLdl sall ¢
() % st QAL [BHd-L 25% s,
(i) sl g Yl GuR AndL AUEA €2 15% SlA.

(i) A28l (Bud-l 20% %2dl d2ld Al 2d AR, Hou A8l BHdAl 15% dvl
A5l Hoadl.

(iv) Heaglg-l 254 GUR 30% sl Asldld 1Ll Sl
(v) IR A5l dRIdR 50% Sid.
(vi) 5l 2 3UIdR WsdRl 100% SlA.

(vii) R 25Hels sl T 40 Sy,

x4
(A) s Uelal 20 Al Aledl 1 ¢ 7
ULEL HIA-A1HLA 54 UdR+l 50%
g 1yl $4 UdRL 20%
(211Ul wal $4 udr-ll 30%

dael (5342 3,00,000

W el 2d © 3 oMl avul a2 WAL eHL sU
20% Al 15% ARl 249 2 dell ol dael Buddl sl 3812 A sl 2ud
dl, ad¥id 5l 10% @l seql.

Y3dR Hd GUR eldl Asll £ 2adl Juvidl Hi2 2iddl 9 dawl Bud sedl
vl Al 2
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(B) s Su-dl-l Ausmidl, s deln 20 wsadl AAl wlsdl wa o

V5HELS UE M-I, Udd YR 2 Aldd R w2l 21454 % 20, 3 10
w75 9. RaR (R vl 7 3,60,000 9. Alls dael 24,000 sl 9. RaR
[Hasdimi sl 44 8,00,000 9. A1g, Basdidi A5l Y41, dael Bud-
60% 9. As1AAL Y4 UR 20% ANdR-L £ qaadl Hie, wsuels dAwel Bid
sedl ¢ldl Al ? 7

5. A [seudl uaiedll 51 i o33 owiddlall saldl 15

(1)

2

AY-101

o AM2U0UAL [l {12 Yoyl ¢9

UMY d281 sl
4 4
1 5,00,000 -20,000
11 8,00,000 40,000

Rz v ¢ldl A,
(a) 4,80,000

(b) % 1,20,000

(c) %7,60,000

(d) % 80,000

s Syl Aludl Al [Gowdl a9 :

ugladl awll 50% 90%
Ad vl T 2,00,000 3,50,000
R walz 1,00,000 2,50,000

40% wdltdl Awdl 2191, dslad usdz :
(@)  ¥3,00,000
(b) ¥ 1,00,000
(©)  ¥6,00,000
(d) ¥9,00,000
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(3) UM WsH dUR SAMHL 200 sELS AHAAL GUALL AUl A ofly s duR
SAHL 120 5AlS AHUAL GUULLL AUl UYL dse, UHIBL (2513))

(@) 60 %
(b) 80%
(c) 70%

(d)  Guariel syl s

(4) 1000 sHIAL GUlert M2 UddR ioll Hiladl 2 oot ¢
wisugls s HaHdl »33lad 10 3., @ 20 (3.0, €ls
wsHels YR salsi-l o30ald 20 sdlsl, @ T 10 sdlsels
wisuels Uil salsil w33lUld 15 sdisl, @ T 5 sa1sels
s Raz sirvudl BRIVAL wal, adladl wal a4 dae-lader vl 214
% 75,000, T 30,000 241 T 20,000 9. $4 3uidRd U3dR,
(a) ¥ 6,00,000
(b) T 4,75,000
(¢) ¥5,50,000
(d) ¥ 3,50,000

N

(5) s - vl [@ada T 10 W 9, Mie-AH auRl [@add T 40 uld. 9,
HLA-AHLAAL WHLLL %22l 20 (.20 €9 A Hld-AHLAL WRWR %l 30 [3.2l. €.
WRVR HIA-AMLAAL (5.l €8 dld ¢4,

(a 3
by 5
(c) 10

(d)  Gua-iel syl s
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Seat No. :

AY-101

May-2016
M.Com., Sem.-I1

411-EA : Cost Accounting
(Old Course)

Time : 3 Hours] [Max. Marks : 70

Instructions : (1) Show necessary calculations as a part of your answer.

(2)  Figures on the right hand side indicates the marks of the question.

1. A company manufactures a product in batches, each of 1000 kg. During the year details
of standards are as under : 13

)]
2)

3)
4
(&)
(6)

Standard production is of 8 batches with no processing loss.
Standard input of direct materials per batch :

Material A 60% of input @ X 20 per kg.

Material B 20% of input @ X 25 per kg.

Material C 20% of input @ X 10 per kg.
Labour hours required, 1000 hours per batch @ ¥ 20 per hour.
Variable overheads X 3 per hour.
Fixed overheads ¥ 32,000.

Selling price ¥ 100 per kg.

Actual data for that period is as under :

(1

AY-101

Actual production and sales is of 10 batches, each of 1000 kg.

24



2

3)
“4)
(&)
(6)

Materials used :

Material A 7000 kg. of X 1,75,000
Material B 1000 kg. of ¥ 30,000
Material C 2000 kg. of ¥ 12,000

Labour engaged for 12,000 hours and wages paid were ¥ 18 per hour.
Variable overheads paid ¥ 40,000.

Fixed overheads paid ¥ 36,000.

Selling price ¥ 90 per kg.

OR

How the variances will be recorded in the books under Single Plan Method and Partial
Plan Method ? Explain in detail with illustrations.

2. Annual sales of a company is 50,000 units. Cost details are as under :

Cost Total Annual Cost | % of Variable Cost
L4
Material 2,85,000 100%
Labour 2,00,000 70%
Factory overheads 1,50,000 60%
Administration overheads 1,00,000 40%

Salesman is entitle to receive 10% commission on sale price.

You are required to :

()

(ii) Calculate B.E.P. in terms of rupees and units, if sale price is I 40 per unit.

AY-101

Compute the sale price per unit, so as to realise 20% profit on selling price.

OR
25

14
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Production capacity of a company is of 4,00,000 units and normally it works at 80%
capacity. Income statement is as under :

Particulars 4 4

Production and sales of 3,20,000 units 19,20,000

selling price @ % 60 per unit

Less : Variable costs :

Raw materials 3,60,000

Labour 3,60,000

Factory overheads 3,20,000

Administration overheads 80,000

Selling & Distribution overheads 1,60,000 12,80,000
Contribution 6,40,000

Less : Fixed Costs :

Factory costs 80,000

Administration overheads 40,000

Selling & Distribution overheads 40,000 1,60,000
Net Profit 4,80,000

During this period, actual production was of 3,00,000 units. Actual selling price was
T 50 per unit. Opening and closing stock was respectively of 20,000 units and 40,000

units.

You are required to prepare statements under marginal cost and absorption cost method

and determine the profit. Show the reconciliation statement of both the profits.

AY-101 26



3. (A) A company is manufacturing a specialised machine. Direct labour require to make
first machine is 3000 hours, learning curve is 80%, Direct labour cost is I 3 per
hour. Direct materials required for a machine is ¥ 8,000. Fixed overheads are of

< 50,000. 7

You are required to calculate :

(1)  Average cost of 4 machines and 8 machines.

(1))  After manufacturing 8 machines if the repeat order of another 6 machines is
received, what price should be fixed per machine, so as to receive 40%

profit on selling price.

(B) Explain and distinguish “Cost Control” and “Cost Reduction”. 7

OR

(A) What is learning curve ? How learning curve ratio will be determined ? Explain

with illustration. 7

(B) Explain relevance of learning curve in Management Accounting System. 7

4. A company has received an order for supply of 5000 units of a product. For this order a
fixed investments of ¥ 50 lakhs and working capital equal to 25% of sale value will be

required. 14

Each unit will require 10 kg of raw materials and 10 labour hours. Price of raw
materials is ¥ 20 per kg and labour rate is ¥ 10 per hour. The details of overheads are as

under :
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Fixed overheads :
Production overheads X 4,00,000 and selling and distribution overheads ¥ 2,50,000.
Variable overheads :

Production overheads 15 per labour hour and selling and distribution overheads

T 40 per unit.

You are required to calculate the price of a product under each of the following

situations :

(1)  When profit is 25% on selling price.

(i) An expected return is of 15% on total capital employed.

(1) To earn profit at 15% on original sale price, when discount is 20% on selling

price.

(iv) To sale at 30% profit on value added amount.

(v)  When profit volume ratio is 50%.

(vi) When profit is 100% of conversion cost.

(vii) To earn profit of ¥ 40 per unit.

OR

(A) The following information is available of a product :

Direct materials 50% of total cost
Direct labour 20% of total cost
Overheads 30% of total cost
Sale price < 3,00,000
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(B)

It is estimated that, in the next following year, rate of raw materials and labour
will increase by 20% and 15% respectively and therefore, present profit will

decrease by 10%, if selling price remains unchanged.

What should be the selling price for the next year, if percentage of profit on cost

at present is to be maintained ?

Following cost data of a product is available from the books of a company. Direct
materials, Direct wages and Variable overhead per unit are respectively I 20, I 10
and ¥ 5. Fixed overheads are ¥ 3,60,000. Annual sales is of 24000 units. Capital
employed in fixed assets is ¥ 8,00,000. Capital employed in current asset is 60%
of sales price. In order to earn 20% return on capital employed, what should be

the selling price per unit ? 7

5. Select correct answer and show necessary calculations : 15

(1)

AY-101

The details of the two periods are as under :

Period Sales Profit
4 4
I 5,00,000 -20,000
I 8,00,000 40,000

Fixed cost should have been :
(a) <4,80,000
(b)y < 1,20,000
(¢) R 7,60,000

(d) 80,000
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(2) The following is the data available from the books of a company :

Activity level 50% 90%
Variable costs ¥ 2,00,000 3,50,000
Fixed costs ¥ 1,00,000 2,50,000

The differential cost for 40% capacity is
(a) < 3,00,000
(b)y < 1,00,000
(¢) 6,00,000
(d) <9,00,000

(3) In order to prepare the first unit, time taken is 200 hours and to prepare second

unit, time taken is 120 hours. Learning curve rate is

(@) 60%
(b) 80%
(c) 70%

(d) None of the above
(4) For the production of 1000 units, available cost data is as under :
Per unit raw materials required is 10 kg @ ¥ 20 per kg
Per unit labour hours required is 20 hours @ ¥ 10 per hour
Per unit machine hours required is 15 hours @ ¥ 5 per hour
Total fixed factory overheads, administration overheads and selling distribution
overheads respectively are T 75,000, I 30,000 and ¥ 20,000. Total conversion cost
is
(a) %6,00,000
(b) T4,75,000
(¢) %5,50,000
(d) ¥3,50,000
AY-101 30



(5) Total material cost variance is ¥ 10 A, Material quantity variance is ¥ 40 A,
standard quantity of material is 20 kg and actual quantity of material is 30 kg. The

price of actual material per kg is

(a 3
by 5
(c) 10

(d) None of the above
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